S Ek 2 6 A NEThHEESS 1 2 A Emls=o=HA JH R

AR |H H | |&2&E KXo & & 4 it )
O =
eI
ANFHFHE AR
HE AR
1 12. 8| H | A & & |Fai9omE30% | FERE ERAEE
gﬂrxhgﬁﬁ
O#R FHW HhEr 77)
@& —#H BIHOSR)
Ol —H (KiED£)
gﬂrxhgﬁﬁ
OFER KK (KEDS)
) . @MmR  5L— (BAFHDE)
2 12. 9 ¢ E BT 9 30 4y o .
KA % | A9 305 QLY B (HEs 57)
@OFR) BO(RER)
®OHE T (HR2 77)
*Qgﬁﬂ
. . OEBIE=R (ABR)
& B | FATO 30 4 \
* % | A9 30 %) @il B (R AIER)
3 12.10 | /K ORIk #H— (KEDR)
PR GIE B B AR T
HARRS | ASEK TH %%Kﬁ#é%ﬁ%ﬁ[%zéééﬁ J
8:30~17:00
4 12,11 | K | £ B S| Fi9KE30%0 | EEERFEEES
5 1212 | & | &£ B 2 |Fri9K304y | HEEAREEREES
6 m43<> %N =
7 u&4‘B %N =
8 122156 | H | &£ B = |Fai9kE305 W XHEFTEES
9 12.16 | kK | & B = |FAiT9KE304 | REFREF 1FIEES GERZ-HICEEMR)
10| 1217 K | &£ B S |FEi19FF30% | HREEEFE2MIERES (HEZ-EAERER)
11| 12218 K | &£ B & |Fai9KE30% | IREREF 3SFHEES (BXHE-tEER)
12| 12.19 | & N =
13| 12.20 C} %N =
14 ma1'@ %N =
KEERWE
HEE, B, Bk
15 | 12.22| A | &R & | Fa09 K30 4 NFHBER LA
BERE LA
O =




